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[ ] (4%) Rank the following carbocations in order of stability.
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1 2 3 4
(A)1>3>2>4
(B)2>1>3>4

(©)3>2>1>4
(D)1>3>4>2

[ ] (4%) If a chiral molecule has an absolute configuration of R, which direction
does it rotate the plane of polarized light ?
(A)clockwise (dextroatory)
(B) counterclockwise (levarotatory)
(C) it doesn’t rotate the plane of polarized light

(D)can’t be determined from the information given.

[ ] (4%) Rank the following sets of molecules in order of acidity

CHs
(H)-N-CH; (H)}-S-CH; (H-P-CH; (H)-C-CH;,
CHs CHs CHs
1 2 3 4
(A) 2>3>1>4
(B) 1>2>4>3

C) 3>1>4>2
(D) 4>2>3>1

4 [ 1 (4%) What term describes the structural relationship between (2R,3R,4S)-
2,3,4-trichloroheptane and (2S,3S,5R)-2,3,5-trichloroheptane?

(A)not isomers
(B) constitutional isomers
(C) enantiosmers

(D)diasteromers

5) [ 1 (4%) What is the IUPAC name of the following bicycloalkane?
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(A)bicyclo[6.3.0]heptane
(B) bicyclo[4.1.0]hexane

(C) bicyclo[4.2.1]hexane
(D)bicyclo[4.1.0]heptane
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(1) (20%) Show the product(s) of each reaction. Ignore stereochemistry.
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@A A




%2R X2R

(2) (10%) Met-enkephalin, an endorphin, serves as a natural pain reliever that changes
or removes the perception of nerve signals. Label all of the functional groups present in

Met-enkephalin.
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(3) (20%) How many asymmetric carbon atoms are present in the following compound?

(a) (b)

[ ~r°
Hsﬁ:& CH(CHs), j:f
(c) (d)

HO
(HsC);HC” “H HO OH

(4) (30%) Which are best reagents, solvents and conditions for following reaction?

(@) CHs

(Y ot L WHLN”

H,C H H,C OH
(b) _ — ——
H,C CH,CH; H,C  CH,CH;
(c) HC H H,C,_ OH
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H,C  CH,CHj H,C  CH,CHs





